CONTRACT OF AGREEMENT

KNOW ALL MEN BY THESE PRESENTS:

This Contract is made and executed this $\underline{\mathcal{T}}$ day of $\underline{\mathit{JVNE}}$ 2024 in Bayombong, Nueva Vizcaya by and between:

The NUEVA VIZCAYA STATE UNIVERSITY, a government instrumentality, created by virtue of RA No. 9272, with principal office in Bayombong, Nueva Vizcaya, represented herein by the University President, WILFREDO A. DUMALE, JR., hereinafter referred to as the **Procuring Entity**;

and

The **AFA ENTERPRISES** with principal office at Escribano St., Malayantoc, Sto. Domingo, Nueva Ecija, Philippines represented herein by its Owner/Proprietress, **AMANDA F. ALI**, hereinafter referred to as the **Supplier**;

WITNESSETH:

WHEREAS, the **Procuring Entity** invited Bids for certain supplies/goods and ancillary services for the project: **Project 2024-03G**: **Procurement and Fabrication of Various Furniture and Fixtures (Lot 1 and Lot 2)**;

WHEREAS, the **Procuring Entity** has accepted the Bid of the **Supplier** to the aforesaid supplies/goods/services;

WHEREAS, the **Procuring Entity** has issued the Notice of Award to the **Supplier** on May 23, 2024;

NOW THEREFORE, for and in consideration of the foregoing premises, the parties hereto as by these presents, do hereby agree and be bound by the following terms and conditions, to wit:

I. Contract Price

Hmmm)w

The total contract price is Four Million Sixty-Eight Thousand Eight Hundred Thirty-five pesos and 03/100 only (Php4,068,835.03).

II. Expected date of Delivery of Goods and/or Performance of Services

The Supplier shall be bound by the following time schedules:

 Delivery of furniture and fixtures within ninety (90) calendar days after date of the notice to proceed.

It is therefore, mandatory on the part of the **Supplier** that the delivery of the goods and/or performance of services shall be made in accordance with the time schedule prescribed by the **Procuring Entity** under the Schedule of Requirements.

Page 1 of 10

III. Goods/Supplies

The **Supplier** accepted the aforesaid amount as payment of supplies materials for the completion of works at the unit Bid stated below:

Lot 1

No.	Particulars	Unit	Qty	Unit Cost	Total Cost
140.	FURNITURE	Lot	1		
1	CABINET, G-Melina, natural finish, 2 partitions, 4 equally divided layers, glass door with lock, L50" x W 15" x H70" (as per picture attached)	Unit	3	26,370.00	79,110.00
2	CABINET, G-Melina, natural finish, 2 partitions, 4 equally divided layers, glass door with lock, L72" x W12" x H70" (as per picture attached)	Unit	1	43,950.00	43,950.00
3	CABINET, G-Melina, Open shelves, 3 layers with partition, L48" x W 45" x H52"natural finish	Unit	10	7,911.00	79,110.00
4	SALA SET, COLOR: LIGHT BEIGE/NATURAL WOOD COLOR (1 pc) 3 seater: W: 65cm x L: 163cm x H: 98cm. (4 pcs) 1 seater: W: 65cm x L: 75cm x H: 98cm. (1 pc) Center Table: W: 51cm x L: 91cm x H: 57cm. (2 pcs) Corner Table: W: 40cm x L: 40cm x H: 54cm	Set	3	43,950.00	131,850.00
5	SALA SET, Material: Gmelina (Natural finish), includes 1 three-seater (20" x 5ft), 1 two-seater (20" x 4 ft), 1 center table (2 ft x 3 ft), and 2 side tables (16" x 16"). Each chair comes with 3" thick foam and a grey corduroy fabric cover. The center table includes a 1/4" thick clear glass pad (2ft x 3 ft)	Set	2	30,765.00	61,530.00
6	TABLE, Conference Table, Gmelina, L:71" x W:24" x H:30", natural finish	Unit	17	10,548.00	179,316.00
7	TABLE, Executive Table, Gmelina with 1/4" thickness & transparent color glass pad (for Length: 153cm, X Width: 91 cm), - 3 drawers both side and center drawer with 4 side table. Table- Length: 153cm, X Width: 91 cm X Height: 81 cm, Drawer 1 and 2-Length: 85cm, X Width: 27 cm, X Height: 13 cm, Drawer 3- Length: 85cm, X Width: 27 cm, X Height: 26 cm, Center Drawer- Length: 85 cm, X Width: 56 cm, X Height: 9 cm. The drawer base shall be 1/2" thick marine plywood. Side Table- Length: 40cm, X Width: 40 cm, X Height: 50 cm, "Picture B.1, B.2, B.3, B.4"	Piece	1	30,325.50	30,325.50

Hmmull)u

Pa

Page 2 of 10

8	TABLE, Office Table, Gmelina, (Natural finish), 46" L x 24" W x 30" H, with 2 side drawers, 1 center drawer, and 1 coffee puller, including a 1/4" thick clear glass pad to cover the top of the table. The drawer base shall be 1/2" thick marine plywood	Unit	3	10,811.70	32,435.10
9	TABLE AND CHAIR, 8-seater rattan dining set, Rattan, 1 Dining Table, table Height: Standard (30") Table: 147 L (cm) x 85 W (cm) x 75 H (cm), Chairs: 40 L (cm) x 40 W (cm)x 81 H (cm)	Set	3	4,834.50	14,503.50
10	TABLE AND CHAIR, G-Melina, Natural Finish, at least 42" x 24" x 30" 3 drawers (2right & 1center) w/ glass pad, 1/4" thickness & transparent color for table, Chair (height: back rest 100 cm; height: seat rest 46cm; 44.5 cm x 42 cm x 44 cm)	Set	11	13,185.00	145,035.00
11	CABINET, G Melina cabinet, 3 partitions, 5 layers with sliding glass doors and locks, L 60" W 15" H75"	Unit	3	35,160.00	105,480.00
	Sub Total Bid				902,645.10

Lot 2

	Particulars	Qty	Unit	Unit Cost	Total Cost
No.	FABRICATED FURNITURE	1	Lot		
1	BED, Folding Camping, Heavy duty with 300 lbs. Capacity, Steel Frame, Strong 300D Polyester Surface, Includes Side Storage Organizer, Carry Bag, 75" Long x 35" Wide x 17" Tall	Unit	4	2,787.00	11,148.00
2	BOARD, Folding Display Board/Promotional Advertising Rack/Calligraphy Screen, also Ideal for temporary room division, 60x160cm, w/ lockable wheeled castors, aluminum or stainless steel frame, double sided fabric covering, single plate/panel	Unit	2	6,967.50	13,935.00
3	CABINET, 5 Layers Kitchen Rack Dustproof Storage Cabinet Carbon Steel Multi-function Rack Enclosed Rack with dimensions 55*32*144CM	Unit	3	4,645.00	13,935.00
4	CABINET, Dish Cabinet, 5 layers with drawers, with Key and lock for drawers, Magnetic doors.	Unit	16	2,787.00	44,592.00
5	CABINET, Open 5-Layer metal Bookshelf/Cabinet for Thesis: Height:185cm, Depth: 40cm; Width: 90cm	Unit	9	9,290.00	83,610.00

HAMMULIN

Page **3** of **10**

6	CABINET, Steel, 3 Drawer Mobile Pedestal Cabinet 5 wheels on the bottom, the front wheels with brake Electrostatic powder coated, Gauge 20 Dimension: at least H60 x W39 x D50cm	Unit	1	7,942.95	7,942.95
7	CABINET, Steel, 4 drawer lateral, central lock, gauge 20 thickness, powder coated, 90cm x 45cm x 138cm WDH	Unit	16	16,554.78	264,876.48
8	CABINET, Steel, Vertical Filing Cabinet, 4 drawer vertical filing cabinet, Grey, SIZE 62 x 46 x 133 cm	Unit	2	9,475.80	18,951.60
9	CABINET, Steel, Vertical Filing Cabinet, 4 drawer vertical filing cabinet, Grey, SIZE 62 x 46 x 133 cm	Unit	11	9,475.80	104,233.80
10	CABINET, Swing Glass Door Steel Filing Cabinet Storage, All metal construction, swing glass door cabinet w/2 adjustable shelves, at least W90xD40xH185cm, Beige	Piece	2	18,580.00	37,160.00
11	CHAIR, Executive Chair, Beige, Chair Back Height: High Back Stool Height: Adjustable Chair Arms: Fixed Arms Chair Design: Armchair Dimension: 55W x 54D x 119Hcm (WDH)	Unit	7	9,290.00	65,030.00
12	CHAIR, foldable 76x38x38 cm materials: metal and plastic	Piece	12	650.30	7,803.60
13	CHAIR, Massage Chair for mental health and wellness GIFT: Massage chair cover + massage eye mask Function: local hyperthermia/airbag intensity adjustment/roller speed adjustment/massage intensity adjustment/partial massager storage type/automatic detection function Installation method: one-piece installation Movement type: 4D robot massage Fabric material: leather Massage techniques: massage, acupressure, kneading, percussion, stretching. Number of airbags: 30 and below Rail type: Double SL type rail Applicable parts: arms, neck, back, waist, buttocks, legs, feet Shoulder massage method: built-in shoulder massage Intelligent control: No Foot massage method: roller massage Arm massage method: built-in arm airbag Buttocks massage method: airbag clamp buttocks massage Can feet be stored? :Yes Highlights of massage chairs: 1. Color LCD touch screen, AI chip simulation mode: AI large screen smart touch, suitable for all	Unit	2	69,675.00	139,350.00
	AMMANDW			AM	Page 4 of 10
	1			1000	

	ages, One-key start, easy to use. 2. Automatic shape detection, suitable for everyone: Intelligent recognition to match different heights. Intelligent body shape detection provides accurate touch and comfortable massage for the whole family. 3. Fascia 3D deep massage robot, relieve fatigue. 4. Combining 6 massage techniques-patting, kneading, rubbing, patting, fingering and other techniques-to bring you a wonderful experience. 5. The human body SL guide rail, the massage range is wider and longer. 6. Thai stretching, stretching the whole body 7. Fully wrap the feet and legs, massage to help sleep: Thai foot massage rollers deeply stimulate the calf, outer calf, and feet, home care. 8. The legs can be stretched to different heights: the legs can be stretched and adjusted to adapt to different heights. Rated voltage: 220V Rated power: 120W Working time: 15/20/25/30 minutes Use weight: 0-100KG Massage method: massage/press/compress airbag/stretch/hot compress Massage area: full body massage				
14	CHAIR, Mesh Chair, 360° swivel, Durable gas lift	Unit	26	4,180.50	108,693.00
15	CHAIR, Study armchairs, color: Granite Beige, Material: Plastic, Chair Back Height: High Back, Chair Design: Armchair, Number of Seats: 1, Length: approx. 46.5cm, Dimension: approx. (L x W x H)46.5cm x 47cm x 79.5cm	Piece	391	1,393.50	544,858.50
16	CHAIR, The four-seater sofa cover includes: four people + footrest + two pillows + 4 cushions + 4 headrests + 2 armrest pillows and 1 footrest, cushion is made of 3A soft doll cotton, high-quality fabric, high-density sponge, Solid wood frame, PU technical leather, USB charging port with charging, Removable and washable sofa bag, Pillow can be adjusted, Four-person size: length 270CM*width 86CM high 74CM, Foot pedal size: 60*60*40	set	1	30,657.00	30,657.00

HAMMUN.

Page 5 of 10

17	CHAIR, Visitor's Chair without armrest, mesh black back and fabric seat, and four-legged black coated metal leg. Dimension: Total Depth from Wall: 548 mm Highest Height: 791 mm Seat Width: 458 mm Seat Depth: 445 mm Backrest Width: 475 mm Backrest Height from Seat: 390 mm Floor to Seat (Minimum Height): 455 mm Base (Center to End): 550 mm	Piece	63	1,858.00	117,054.00
18	MONOBLOC CHAIR, with armrest, virgin plastic (not recycled), color beige	Piece	666	1,393.50	928,071.00
19	MONOBLOC CHAIR, without armrest, virgin plastic (not recycled), color beige	Piece	308	464.50	143,066.00
20	MONOBLOC TABLE, plastic table, cross-leg, 24x38 in, beige	Piece	1	836.10	836.10
21	RACK, Book Shelf Storage Rack/ Display Shelf Multipurpose Book Rack With Wheels, metal, 635*365*1090mm	Unit	5	3,251.50	16,257.50
22	RACK, Dish Rack, Plastic, 3 Tier, atleast L-61cm, W-33cm, H83	Unit	2	2,787.00	5,574.00
23	RACK, Door Umbrella Floor Stand, metal, 44cm*24cm*60cm	Unit	1	1,393.50	1,393.50
24	RACK, Multifunctional Folding Reading Rack 360° Rotatable/ Adjustable Bookshelf/ Portable Book Stand, aluminum/metal, 34*23.5*22.5cm	Unit	4	1,858.00	7,432.00
25	SALA SET, Sofa Sala Set Leather, Black and Gray color combination with glass center table. (1) 3-seater L68"x W30"x H30" and (2) 1-seater L30"x W30"x H30". with match 5 throw pillows	Set	6	27,870.00	167,220.00
26	TABLE, 2 layer stainless table/ working table Thk: 1.5mm Type: 304 stainless Size: 80 L x 50 W x 80 H cm	Unit	2	6,967.50	13,935.00
27	TABLE, Bedside Table/ Nightstand Coffee Side Table 3 Drawer and Desk Cabinet Material: MDF laminated wood Dimensions: 33x26x40 cm	Unit	1	929.00	929.00
28	TABLE, computer table with drawers and shelves Suitable for monitors up to 23 inches wide size with wheels Material: Laminated Wood Dimension: L39.5" x W20.5" x H46.25" (see attached design)	Piece	3	2,508.30	7,524.90

Ammul) w

AAA

Page **6** of **10**

29	TABLE, Denmark L-Type office desk with steel frame, laminated top office table with gooseneck handle side return & mobile pedestal 900*425*720mm 14000*700*750mm 66kg	Unit	6	18,580.00	111,480.00
30	TABLE, Heavy Duty Folding Table 4ft Material: Plastic and steel Dimension: at least 61 cm (W) x 122 cm (L) x 74cm (H) Table top Thickness: 4.2 cm Weight capacity: Center Loaded:120 kg/ Evenly Distributed: 150 kg	Unit	3	4,645.00	13,935.00
31	TABLE, Heavy Duty Folding Table and Chair TABLE: High density HDPE, lightweight, durable and stable (with lock design) Thick Stainless steel bracket/frames With anti-slip foot cover Waterproof, corrosion-resistant and wear-resistant Easy folding for storage Dimension: at least 61 cm (W) x 122 cm (L) x 74cm (H) Table top Thickness: at least 4.2 cm CHAIR: Black color Waterproof, corrosion-resistant and wear-resistant, E-grade environmental protection sheet, reinforced with hexagonal screws, Stable frame structure,	Set	1	7,432.00	7,432.00
32	TABLE, Heavy duty Promotional Table, collapsible and light weight Easy to use and quick to assemble Easy to carry Used at trade exhibit, presentations, displays Formed size is 80cm(w) x 40cm(d) x 200cm(h)	Unit	2	2,787.00	5,574,00
33	TABLE, Office Table, Material: Medium Density Fiberboard (MDF), Color: Gray, Dimension: L55" x W23.5" x H29.5", 5 drawers, heavy duty, see attached design	Piece	1	18,580.00	18,580.00
34	TABLE, Overall size (1xwxh) 118x61x74cm Material: HDPE plastic panel: 3.5cm, powder coated finished steel frame 25x1.0mm; Panel: plastic steel leg	Unit	2	2,787.00	5,574.00
35	TABLE, Podium Stand/Lecture Table Aluminun or Stainless Steel material, 1180mm height,470mm x 470mm base	Unit	1	13,935.00	13,935.00
36	TABLE, Rostrum with platform with glass pad, narra finish, wood, based(36inches x 22 inches) height (48 inches)	Unit	1	13,935.00	13,935.00

HAMMUL)W

Page **7** of **10**

	Sub Total Bid Grand Total Bid				3,166,189.93 4,068,835.03
37	TABLE, Table, executive/L-shaped table Steel Legs & Modesty, with steel drawers and mobile pedestal Dimension: main table: L140 x W70 x H75 cm side table: L90 x w42 x h72 cm Material: HPL Top / Steel Body and Drawers	Set	3	23,225.00	69,675.00

IV. Scope of Contract

The following documents shall be deemed to form, be read, and construed as part of this Contract:

- (a) The Supplier's Bid, including the Technical and Financial Proposals, and all other documents/statements submitted (e.g. bidder's response to clarifications on the bid), including corrections to be bid resulting from the Procuring Entity's bid evaluation;
- (b) The Schedule of Requirements;
- (c) The Technical Specifications;
- (d) The General Conditions of Contract;
- (e) The Special Conditions of Contract
- (f) The Performance Security; and
- (g) The Notice of Award.

V. Warranty

The **Supplier** warrants that the goods/materials supplied under this Contract are new, unused, of the most recent or current models, and that they incorporate all recent improvements in design and materials, except when the technical specifications required by the **Procuring Entity** provides otherwise.

The **Supplier** hereby covenants with the **Procuring Entity** to remedy defects therein in conformity with the provisions of this Contract.

VI. Payment

The **Procuring Entity** covenants to pay the **Supplier** in consideration of the provision of the goods and services and the remedying of defects therein, the Contract Price or such other sums as may become payable under the provisions of this Contract and its ancillary documents, at the time and in the manner prescribed herein.

VII. Liquidated Damages

If the **Supplier** fails to satisfactorily deliver any or all of the goods and/or to perform the services within the period(s) specified in this Contract inclusive of duly granted time extensions if any, the **Procuring Entity** shall, without prejudice to its other remedies under this Contract and under the applicable law, deduct from the Contract Price, as liquidated damages, the applicable

Page 8 of 10

rate of one tenth (1/10) of one (1) percent of the cost of the unperformed portion for every day of delay until actual delivery or performance.

VIII. Settlement of Disputes

If any dispute or difference of any kind whatsoever shall arise between the Procuring Entity and the Supplier in connection with or arising out of this Contract, the parties shall make every effort to resolve amicably such dispute or difference by mutual consultation.

Dispute shall be resolved in accordance with RA No. 9285 or the Alternative Dispute Resolution Act of 2004.

Notwithstanding any reference to arbitration herein, the parties shall continue to perform their respective obligations under this Contract unless they otherwise agree; and the Procuring Entity shall pay the Supplier any monies due to it.

IN WITNESS WHEREOF, the parties hereto have caused this Contract to be executed in accordance with the laws of the Philippines on the day and year above written.

For the Procuring Entity:

WHÆREDO A. DUMALE, JR.

University President

ID No.

WAD-0218

Issued on: Dec. 21, 2022

Issued at: Nueva Vizcava State Univ.

Owner/Proprietress

Issued at: NUENA ECITA

Signed in the presence of:

CHIEF ADMINISTRATIVE OFFICER-FINANCE

Supplier Representative

Funds Available:

LIZA B. PARAGUAS-GONZAGA

NVSU Accountant IV

ACKNOWLEDGMENT

Republic of the Philippines)
Province of Nueva Vizcaya)
Municipality of Bayman Gnyll (3.4 VIZCA)

appeared **WILFREDO A. DUMALE, JR.,** of the Nueva Vizcaya State University, who presented to me his valid ID <u>WAD-0218</u> issued by <u>NVSU</u> as competent proof of identity, and **AMANDA F. ALI** of **AFA ENTERPRISES** who presented to me her valid ID <u>OVS-00-OVE</u> issued by <u>L.TO</u> as competent proof of identity, known to me to be the same persons who executed the foregoing instrument and acknowledged to me that the same is their own free act and deed and that they have authority to sign the same for and in behalf of their respective agencies.

The foregoing instrument, consisting of ten (10) pages, including this page on which this acknowledgment is written, signed by the parties and their instrumental witnesses on each and every page thereof, and pertains to the Contract of Agreement for goods/supplies/services.

WITNESS MY HAND AND SEAL on this ____ day of Philippines.

MEANG NUEVA VIZCAN

_ 2024 in _

Notary Public

Doc. No: 376; Page No.: 75; Book No.: 6; Series of 2024. ATTY. EDGARDO C BALGOS

NOTARY PUBLIC
COMMISSION NO. AM NO.07-23K-NC
FUR THE PROVINCE OF NUEVA VIZCAYA
UNTIL DECEMBER 31, 2025
FUU BALEGS LAW OFFICE
RAMBANG, NUEVA VIZCAYA
PTR NO. 2833448 1/2/2024 NV
MCLE NO. VII-0011936 3/2/2022
BP LIFE NO. 641233 1/9/2006 NV

ROLL NO.38329